DELUXE

SMITH MACHINE
MD-7492

MAIRCY

(e - . Y
= —
NNy

/ —
e

{
N~

=1

255255555505 0nor -~ ORI
i ‘ﬁmw&mwmmsmmmmﬁw,w. =

m\..ﬂ \‘ utwwwmmwwm\\/l, . ‘i\'ﬂq \\\
5 A\ »/ﬁg

IMPORTANT: Please read the Important Safety Notice and Assembly Information in
the Owner’s manual before assembling this product.

Assembly Manual

220414




|www.marcypro.com

O©IMPEX INC.



©IMPEX INC. JWwWw.marcypro.com




Wﬁg 25

@x'] @x'] @XZ ><1 @x1 x10

© NS ® @® ©)
2 2 @~ 1 2 3 &) x 15
l
'R
7
I )
@ & D1 @ 1

g‘" St N £

@XZ X2 x6 ‘xz x2 ><8

©IMPEX INC. 3wWww.marcypro.com




x22

@ -2

LN LN N [N N

x14

mm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

©IMPEX INC. 4WWW.marcypro.com



m -

x99

001 2 3 4 5 6 7 8 9 10 11 12 13 14 15

©IMPEX INC. SWww.marcypro.com




© ©

44tx1

5#x1
; ; 6#x2 x1
Mmm
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

m ||||||||D

D

1 4 8 n" 3 4 4 4 5 4

'|'|'|"'|\

©IMPEX INC. GWWW.marcypro.com




frm— < 4 M0}
© | x A4 @3’
8 x 4 M10

©IMPEX INC. JWWW.marcypro.com




Bt N
g9
X
- o PN m
- D
s = =
N < o0
-— © (Q\| -—
X X X X
O

@@ ®6|)

8www.marcypro.com

O©IMPEX INC.



M10x23"

4

1
2

M10x25"

1

M10x23"

1

9WWW.marcypro.com

O©IMPEX INC.



®® ® & ®

©IMPEX INC. 1Qwww.marcypro.com




x 4 M8
x 2 M10

@@@

=
&

e 4
\\
® /
)/
/4 \\IIII.I.LI\
/

%

+®

4

g O

M10x23"
M8x13"

© B O

2
4

X
X
3n
4
Sn
8

S RSN ONC
@®® ®

1 www.marcypro.com

O©IMPEX INC.



1 2www.marcypro.com

O©IMPEX INC.



M12x5"

2

(F—mm < 2 mox2p

x2 M10x3"

L

x2 M6x3"

x 2 M2

@ B
W @ ©

x 2 M10

13www.marcypro.com

O©IMPEX INC.



M10x3"

1

M10x2"

2

14www.marcypro.com

O©IMPEX INC.



M10x13"

3

(|

M10

15www.marcypro.com

O©IMPEX INC.



x 6 M10

M10x3
M10x23"
M10x13"
M10x1

1
2
2
1
v BO

x12 @3

11 B

22O @ )

16www.marcypro.com

O©IMPEX INC.



M8x23"

x2

(

(Dgu

ﬂ

(o <2 M10xp13" ©

x4 O

x2 M10 @

B

1 7wWww.marcypro.com

O©IMPEX INC.



\
\
\

N

Q

/AN
\

\

o,

\V4
\
\

~

\
\

\
\

\ Q

o 5

©IMPEX INC. 18www.marcypro.com



XX

4]

©IMPEX INC. 19www.marcypro.com




©IMPEX INC. 2(www.marcypro.com




7
@ x 6 @ x 6 @x1  @x1 @1 @) x 1

©IMPEX INC. 21www.marcypro.com




S—

@ 2
_
| S—

@1

T @~
® -

- (O

mm

0123456789101112131415J>

@~ e

;|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|' '|'|'|"'|\

1 ” 2 ” 3 ” 4 ” 5 ”

©IMPEX INC. 2JWwWWw.marcypro.com




69 x 4 @ x 1 @H
@) = 1
@«
WWWWWYW
69 = 1
m@E 4#x1
: J S5#x1
i : 6#x2

c 1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 i)
IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII'IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII‘IIII|IIII

L L L '|'|'|"'|\

O 1 ” 2 ” 3 ” 4 ” 5 ”

©IMPEX INC. D3www.marcypro.com



M = 1 M10x3¢"

x 2 M10x23"

@ g O x 3 Mo

O©IMPEX INC.

24WWW.marcypro.com




©IMPEX INC. D5www.marcypro.com




M12x65"

1

X

M10x6"

M10

x 1

26WWW. marcypro.com

O©IMPEX INC.



©IMPEX INC. 27WwWw.marcypro.com




I 2 M1

® ® ® QO

©IMPEX INC. Jgwww.marcypro.com




29WWW. marcypro.com

O©IMPEX INC.



©IMPEX INC. 3(www.marcypro.com




IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WWW.marcypro.com
support@impex-fitness.com

O©IMPEX INC.

3 1www.marcypro.com



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

